Precalculus Worksheet Name
Section 4.7 — Inverse Trig Functions Period

Fvaluate the given expression without the aid of a calculator.
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Find the exact \falue without a calcuiator. CUWbPO$|ﬂ N FLLNQI INS
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Find an algebraic exm alent to the given expression.

30. tan(arccos[—;ED 31. sin(arccos(x)) 32. sin(arctan(gn

Evaluate using your calculator to find the approximate value. Express your answer
in degrees.
33. sin”'(.8621) 34. tan~'(.5893) 35. cos™'(—.3218)

36. arcsin (-.6821) 37. arctan (-1.6283) 38. arcos(.2814)

Evaluate using your calculator to find the approximate value. Express your answer
in radians
39. arcsin (.2618) 40. cos™' (-.8090) 41. tan"'(-1.7321)
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Right Triangle Trig 9% \,?( 0&&(\ (.Q/

1. tanB=5/8, findsin© 2. sin B= i, find sec © & \ - %
13

3. cosB= % , find cot © 4. secB= % , find sin B8

in Excercises 5-8, the point given is on the terminal side of an angle in standard position. Determine the exact values of
the six trigonometric functions of the angle.

5. (4,3) 6.(-12, -5)

7. (4.84) 8. (19, -180)

in Exercises 9-1.2, state the quadrant in which 0 lies.

9. sinB<0andcosB<0 gw}‘-w
10. sinB>0andcosH>0 - /

11. sinB>0andtanB<0
12, secB:>0andcotB<0



o B ses 13-18, find the values of ¢ six trigonemetric functions of 8.
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13. sin 8= -7, corstraint: © lies in quadrant |1, 14. cos 6= Ag , constraint: 8 lies in quadrant 111
b
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15. tan 8= ﬁE, constraint: sin 8 <0, 16. cos B= ﬁ' constraint: tan 8 < 0.

17. cot B= -3, constraint: cos 8 > 0. 18. ¢sc B=4, constraint: cot 8 < 0.



